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1. Intelligent automation lies in the overlap of two big areas, being:
a. Deep learning and business process management
b. Artificial intelligence and neural networks
c. Artificial intelligence and robotic process automation
d. Robotic process automation and business process management
2. The nervous system of any organization is:
a. Artificial intelligence
b. Business process
c. Intelligent automation
d. Machine learning
3. Three main types of business processes are:
a. primary, core and tertiary
b. primary, secondary and tertiary
c. primary, supporting and management
d. core, supporting and unframed
4. Knowledge-intensive business processes are tightly framed and application-to-application based.
a. True
b. False
5. Robotic process automation is driven by simple rules and business logic.
a. True
b. False
6. Who is considered to be the father of artificial intelligence?
a. Thomas Davenport
b. Michael Hammer
c. Alan Turing
d. James Champy
7. What of the following is not a type of machine learning?
a. supervised learning
b. unsupervised learning 
c. class-supervised learning
d. reinforcement learning 
8. Deep learning is derived from:
a. artificial neural networks
b. k-nearest neighbour
c. correlation
d. new language processing
9. NLP in terms of artificial intelligence is the abbreviation for:
a. new language processing
b. natural language processing
c. nice language processing
d. neural language processing
10. Intelligent automation is used with solutions that completely remove human work from process.
a. True
b. False
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